W+c W+4c W™ +c

Neal 19210 + 587 (stat) 9674 + 401 (stat) 9546 + 367 (stat)
C 0.0811 + 0.003 (stat) 0.0832 + 0.004 (stat) 0.0794 + 0.004 (stat)
o [pb] 1026 + 31 (stat) T75 (syst) 504 =+ 21 (stat) +:42 (syst) 521 =+ 20 (stat) 733 (syst)
L
i 0.968 + 0.055 (stat) 3012
W1 D" (2010)= W'D (2010) W~ D" (2010)"

Neal 19210 + 587 (stat) 9674 + 401 (stat) 9546 + 367 (stat)
C 0.107 4 0.004 (stat) 0.113 4= 0.006 (stat) 0.101 £ 0.004 (stat)
o [pb] 190 + 6 (stat) ﬂ% (syst) 90 =+ 4 (stat) fg (syst) 99 + 3 (stat) +7 (syst)
o(WT+D"(2010) ) 0.909 + 0.051 (stat) 0014

oc(W—+D*(2010)+ —0.028



